Result Sheet : ],B"f'gt'?'fg‘?‘,\ 2nd Semester (Back)

Academic Year : 2075/2076
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Note: Incomplete Results

Roll No: Code No: Absent Failed A® = Absent E* = Expelled

1292 EXT 101 Failed R.N. = Roll Number CP = Credit Point

1386 EXT 101 —-=- Failed IA = Internal Assessment TCH = Total Credit Hour

1550 AEC 102 Absent TH = Theory TCP = Total Credit Point

1550 EXT 101 Absent PR = Practical GP = Grade Point

1550 AGR 102 Absent -=-= T = Total CH = Credit Hour

1550 $SC 102 Absent --e= G = Grade OGPA = Overall Grade Point Average

1550 PPH 101 Absent &; *

1550 HRT 102 Absent e %

1587 EXT 101 Failed o

1626 EXT 101 Failed

1678 EXT 101 Failed

1683 EXT 101 Failed

1687 EXT 101 Failed

1688 EXT 101 Failed

1698 EXT 101 Failed

1700 PPH 101 Failed

1700 LPM 102 Failed

1708 SSC 102 Absent

1712 EXT 101 Failed

1723 EXT 101 Failed




